¥ ‘ Compound Shapes
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1)

1(b)

REVISE THIS
IS Tt

Here is a shape made from rectangles.

3cm
LI— Not drawn
A- g accurately
10 cm D
B 6 cm
11cm
Work out the perimeter of the shape [2 marks]

O +3+4% +8 + 6+ =4

Answer L\- l cm

Work out the area of the shape [3 marks]

A Ax Y = \12cmt
B Ilx 6 =66um?

1L +66 =48
Answer tl’ 8 cm?
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2 Here is a shape made from rectangles.
12 cm
Not drawn
accurately
o
B 12 cm
2cm &
18 cm
2(a) Work out the perimeter of the shape [2 marks]

2 4+ 18 +12 + |12 +10 +6

Answer BO cm

2 (b) Work out the area of the shape [3 marks]
A: 2x18 = 36am®
B 1ox12:=\20um’

120 + 6
Answer \5 G cm?
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3 Here is a pentagon.
6 cm
|
2 cm Not drawn
.A accurately
5cm " 5cm
31| %
- 4
10 cm
3(a) Work out the perimeter of the pentagon. [2 marks]

S+6+14+S +10 = 2%

Answer Z % cm

3 (b) Work out the area of the pentagon. [3 marks]

A: 6%S =20Dum®
R : '/-,,Xq'x%: 6““1

o4+ 6 =72
Answer %g cm?
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4 Here is a shape made from rectangles.
3¢em Not drawn
n accurately
1 m 0
( |
' L]
¢ B
n | n
20cm
4 (a) Work out the perimeter of the shape.

[3 marks]

13+344483 +54+9+9 +20

Answer ‘ 6 cm

4 (b) Work out the area of the shape.

[4 marks]
A: 12x2% = 3%’
B o ¥xb= L2amt
C: 9% 4> ANun’

Answer \SL cm?
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5 Here is a shape made from a trapezium and a rectangle.

8cm

Not drawn
accurately

2cm

14 cm

Work out the area of the shape.

Al x2=2% unt
R: (4 +®Y XS =SS o’

<SS +18= 8%

Answer % ’s
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Here is a shape made from rectangles.

(O

:

: 3cm

]

A Gum
8cm

S Not drawn

on accurately

4 cm

The area of the shape is 50 cm?
Work out the perimeter of the shape.

[5 marks]

A: gx\l— :’S'L(AM‘L
SO -3 = \bum®

18+3= 6

T+4 +S+ 6+ 5110 = 6

Answer 3 6

cm
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7 A rectangular hole is cut from a larger rectangle.
A
2.5cm
A4
]
1.5cm fr 1.5cm
]
9cm { LHM
i
R
)
'
A
2.5cm
\4
12 cm
Work out the area of shaded region. [4 marks]

1-25-25 = %
L-'S-1'S =19

12x 9= 108 08-36=F1L
Ax & = %6

Answer i 2‘

cm?
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8 ABCDEF is a hexagon made from two right angled triangles and a trapezium
F
5cm
E
AO=5cm
AD =11 cm
OC=8cm
8 (a)

Work out the perimeter of the hexagon.

[2 marks]
S+S+S+12+ Y% +10

Answer L‘- L

8 (b) Work out the area of the hexagon. [4 marks]
o — 1
A: A0GE+0W)x% = 22um
B: 4 xS x\L = 20 o
C: 1 xg x 8 = Wam'
32+ 30+ Lk
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9 ABCD is a square.

i )
D S G C
GC =2cm AE =3cm EB=AH=4cm FC =5cm
Work out the area of shaded region. [5 marks]

+x3=%1

Ix5=1S
7 xy = Y

4q- 15-4% = 30

Answer ’5 O cm?2
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